

**CITY OF JONESBORO, GEORGIA COUNCIL****Agenda Item Summary****COUNCIL MEETING DATE:**

12/01/2025 Work Session

Requesting Agency (Initiator)

Department of Public Works

Sponsor(s)

Marcus Heard, Director of Public Works

Item Title: Council to consider approval of the South Main Street resurfacing project from the City limits to West Mill Street.**Requested Action:** Requesting Approval.**Requirement for Board Action:** Approval of the South Main Street resurfacing Project.**Is this Item Goal Related?** Yes, the resurfacing project improves safety by providing a smoother surface, eliminating potholes, cracks, and ruts that may cause accidents. Improves driver visibility with new lane marking and improves transportation efficiency.**Summary and Background:** The Atlanta Regional Commission (ARC) has issued a Transportation Improvement Program (TIP) for project solicitations. Clayton County has been looking at roadways that will qualify for federal funding, and South Main Street is a road they would like to submit. Clayton County is seeking commitment from the City of Jonesboro to fund the 20% match for the portion within the City.

The County will need to submit projects by the second Monday in December (December 8, 2025).

Fiscal Impact (Include projected cost, approved budget amount and account number, source of funds, and any future funding requirements.)

Estimated project cost- \$453,505.75 City of Jonesboro 20% match- \$90,701.15

Rounded project cost- \$ 500,000.00 City of Jonesboro 20% match- \$100,000.00

Source of Funds – To be determined by the Council.

Exhibits Attached: See attached**Staff Recommendation:** Marcus Heard, Director of Public Works (470) 372-8609**FOLLOW-UP APPROVAL ACTION (City Clerk)**

Typed Name and Title	Date	
Signature	City Clerk's Office	

Outlook

TIP Solicitation

From Keith Rohling, P.E., PTOE <Keith.Rohling@claytoncountyga.gov>

Date Tue 11/18/2025 5:15 PM

To Marcus Heard <MHeard@jonesboroga.gov>

Cc Justin Gossett <Justin.Gossett@claytoncoun1yga.gov>

ARC has issued a TIP project solicitation for projects. We are going to submit for resurfacing again for next fiscal year. In preparation for this submittal we have been looking at all the roadways that would qualify for federal funding and S. Main is one we want to submit. We do not want to leave the City out, but we would need the commitment from the City to fund the 20% match for the portion within the City. Do you think this is something the Mayor and Council would support?

Thanks,

Keith Rohling, P.E., PTOE

Assistant Director

Transportation and Development

Clayton County Board of Commissioners

770.473.5453

678.794.1222

Keith Rohli <Keith.Rohling@claytoncountyga.gov>

770.473.3990

7960 North McDonough Street, Jonesboro, GA 30236

ClaytonCountyGA.gov

Outlook

RE: EXTERNAL: Re: TIP Solicitation

From Keith Rohling, P.E., PTOE <Keith.Rohling@claytoncountyga.gov>

Date Wed 11/19/2025 5:21 PM

To Marcus Heard <MHeard@jonesboroga.gov>

Cc Justin Gossett <Justin.Gossett@claytoncountyga.gov>

❖ 1 attachment (18 KB)

Book2.xlsx;

This is what we have es1imated if that will help with your discussions with the Mayor. Please remember this is a rough estimate. If you round to half a Mil. it looks like the 20% match from the City would be \$100,000.

I need to get this to our BOC by the first meeting in January which means I need to submit the second Monday in December. I need to know what to submit.

Thanks,

Keith Rohling, P.E., PTOE

Assistant Director

Transportation and Development

Clayton County Board of Commissioners

770.473.5453

678.794.1222

Keith.Rohling:@.ci9ytoncountyqil.gov

770.473.3990

7960 North McDonough Street, Jonesboro, GA 30236

❖YlonCovntyGA.qQI!

From: Marcus Heard <MHeard@jonesboroga.gov>

Sent: Wednesday, November 19, 2025 9:02 AM

To: Keith Rohling, P.E., PTOE <Keith.Rohling@claytoncountyga.gov>

Cc: Justin Gossett <Justin.Gossett@claytoncountyga.gov>

Subject: EXTERNAL:Re: TIP Solicitation

This email originated from outside your organization. Do NOT click links or open attachments from _____ unless you know the sender and trust the _____ suspect this email to be a phishing _____ p easi> forward this message to Rhishing@claytoncountY.92..gl

Street	From	To	Length	Width	Turn Lane SY	Paser Rating
S Main Street	City Limits	North Mill Street	5694	24	1767	35
Transportation and Development						
District:	Land Lot:	Street Code:	Comm. Dist			
6th	66	2	4			

Work consists of full width milling, patching, and resurfacing S Main Street from Jonesboro City Limits to North Mill Street.

Resurfacing SY: 16951
Patching SY: 2542.65

Length Miles 1.078

ITEM	ITEM #	UNIT	QUANTITY	CONTRACTOR UNIT COST	CONTRACTOR COST
PREPARATION OF BASE (AGGREGATE MATERIAL)	317-6000	CY		\$ 180.00	0.00
RECYCLED ASPH CONC PATCHING, INCLUDING BITUM MATL & H LIME, 4" DEPTH	402-1802	TN	559.39	\$ 165.00	92299.35
RECYCLED ASPH CONC 12.5 MM SUPERPAVE, GP 2 ONLY, INCL BITUM MATL & H LIME	402-3130	TN	1865.00	\$ 120.75	225198.75
BITUM TACK COAT	413-1000	GL	1186.57	\$ 5.00	5932.85
MILL ASPH CONC PVMT, VARIABLE DEPTH	432-5010	SY	16951.00	\$ 3.05	51700.55
ADJUST MANHOLE TO GRADE	611-8050	EA	4.00	\$ 2,000.00	8000.00
ADJUST WATER VALVE BOX TO GRADE	611-8140	EA	9.00	\$ 1,650.00	14850.00
THERMOPLASTIC PVMT MARKING, ARROW, TP 2	653-0120	EA	3.00	\$ 85.00	255.00
THERMOPLASTIC PVMT MARKING, ARROW, TP 3	653-0130	EA	2.00	\$ 175.00	350.00
THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, WHITE	653-1501	LF	11388.00	\$ 1.00	11388.00
THERMOPLASTIC SOLID TRAF STRIPE, 5 IN, YELLOW	653-1502	LF	11388.00	\$ 1.00	11388.00
THERMOPLASTIC SOLID TRAF STRIPE, 24 IN, WHITE	653-1704	LF	48.00	\$ 13.75	660.00
THERMOPLASTIC SOLID TRAF STRIPE, 8 IN, WHITE	653-1804	LF	464.00	\$ 3.25	1508.00
THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, WHITE	653-3501	GLF	2140.00	\$ 1.00	2140.00
THERMOPLASTIC SKIP TRAF STRIPE, 5 IN, YELLOW	653-3502	GLF	10508.00	\$ 1.00	10508.00
THERMOPLASTIC TRAF STRIPING, WHITE	653-6004	SY	40.00	\$ 6.75	270.00
THERMOPLASTIC TRAF STRIPING, YELLOW	653-6006	SY	1514.00	\$ 6.75	10219.50
RAISED PVMT MARKERS TP 1	654-1001	EA	798.00	\$ 6.75	5386.50
RAISED PVMT MARKERS TP 3	654-1003	EA	215.00	\$ 6.75	1451.25
			Total	\$	453,505.75

NOTE: Striping quantities need to be verified and updated.